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                                                    Set 1 
Zadanie 1  

Przeczytaj tekst. Uzupełnij każdą lukę (1-6) jednym wyrazem, tak aby otrzymać 

logiczny i gramatycznie poprawny tekst. Wymagana jest pełna poprawność ortograficzna 

wpisywanych wyrazów. 

Miuccia Prada, Tiger Woods and Jerry Seinfeld 1…………………… part of a global club of 

about 2,800 billionaires. 2……………………………. to Forbes, the US leads with 813 billionaires, 

followed by China with 473 and India with 200. The BBC podcast ‘’Good Bad Billionaire’’ 

explores how various billionaires 3……………………. their fortunes and their impact. The 

immense wealth 4……………… billionaires is staggering - a billion seconds equals 32 years. 

The existence of billionaires highlights global inequality, with 81 billionaires owning 

more wealth 5……………………. the poorest four billion people. Oxfam and others argue that 

6……………………………. inequality is a sign of a flawed economic system, prompting calls for 

wealth taxes. 

                                                                                          Na podstawie: www.bbc.co.uk 

Zadanie 2 

Przeczytaj tekst. Uzupełnij każdą lukę (1–4), przekształcając jeden z wyrazów 

z ramki w taki sposób, aby powstał spójny i logiczny tekst. Wymagana jest pełna 

poprawność gramatyczna i ortograficzna wpisywanych wyrazów. 

Uwaga: dwa wyrazy zostały podane dodatkowo i nie pasują do żadnej luki. 

     include consist    forget      form   destine     know 

 

Eryri National Park, 1…………………………… known as Snowdonia National Park, is a 

breathtaking region in north-west Wales, renowned for its stunning landscapes, rich 

biodiversity and cultural heritage. In 2022, the park's name was officially changed to 

its Welsh designation, Eryri, while its highest peak, previously known as Snowdon, is now 

called Yr Wyddfa. This change underscores the park's deep-rooted Welsh identity and 

heritage. The park features several prominent mountain ranges, 2……………………… the 

Snowdon massif, Glyderau, and Cader Idris. These peaks offer a range of activities 

such as climbing, scrambling  and adventurous walking, attracting visitors from around 

the world. Beyond its rocky heights, Eryri is home to temperate rainforests, 

3…………………………… as Celtic rainforests, which add a lush, green contrast to the craggy 

landscapes. These forests are rich in biodiversity, housing a variety of plants and animal 

species. Today, Eryri National Park continues to be a vital part of Wales' natural and 

cultural landscape. Its combination of stunning natural beauty, rich biodiversity and  


